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Explain four methods of transfer pricing of products in organizations. (8 marks)
The following income statement has been extracted from the books of Randa Limited
for the month of July 2016.
: Ksh Ksh
Sales 5,800,000
Less: Costs:
Direct matenals 2,000,000
Direct labour 3,000,000
Overheads 1,000,000 6,000,000
Loss 200,000
90% of the overheads arc variable.
In order to improve performance in the month of August 2016, the management
accountant has proposed the following two options:
Option A
Improve the product by incurring additional variable costs of 8% of the current value.
This will increase sales by 8%.
Option B
[ncur promotional costs of Ksh 200,000. This will lead to an increase in the sales and
variable costs by Ksh 1,000,000 and Ksh 500,000, respectively.
(1) Using the marginal costing technique, determine the profit or loss under each
option.
(i1} Using the results in (1) above, advise the management on the option (o adopt.
{12 marks)
Explain four differences between management accounting and financial accounting.
(¥ marks)
Monda Limited manufactures two products, MT; and MT,, using two types of
raw matenals R, and R,. The following are the estimates for the month of
September 2017:
oo
Sales Units Selling Price per Unit Q\?i\ ;er\,‘
(Ksh) @
MT, 4000 900
MT, 3,500 ' 1,000 Bakas Rudqeie
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Standard material requirements per unit

MT, \ MT,
R, (k) A2
R, (kg) I foo3
J
Cost price per kg /
Ksh
Ry 40
R, 60
Inventory
Goau - g Ve M- ks MT,;
A (units)
1 September 2017 160
30 September 2017 170 .
Prepare:

(1) Sales budget
(1)  Production budget v
(i)  Materials usage budget_
(iv)  Materials purchase budget in kilograms and in Kenya shiflings.
(12 marks)

3. (a) The data below rclates to Petal Limited for a period of ten years.
Year Number of units Total cost in
produced Ksh ‘0600
X) (Y)
2007 150 12
2008 120 10
2009 160 15
2010 200 18
2011 240 20
2012 260 24
2013 180 16
2014 250 22
2015 300 30
2016 200 20
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6)) Determine the regression equation of Y and X.

(i1) Using the equation in (i) above, estimate the total costs for the year 2017 when
the expected production is 230 units.

(10 marks)
) Explain five assumptions of a transportation problem. (10 marks)
4 (a) A firm has advertiscd for four jobs; Ji, J,, J3 and Js. Four contractors; C,, C; Cyand C,
have submitted their tenders. The tender amounts, in thousand of Kenya shillings, are
given as follows:
Jobs
J 1 J 2 J3 J4
Contractors G, 30 58 70 40
C; 42 54 66 34
Cs 34 50 74 30
Ca 28 62 78 42
(1) Determine the assignment that minimizes the total cost of the jobs.
(i) Determine the minimum total cost.
(10 marks)
) In a hospital, there is one doctor attending to patients in a single queue. The arrival of
patients is random and follows a poisson distribution, at a rate of 0.20 patients
per hour. The service at the hospital is exponentially distributed, at an average rate of
0.25 patients per hour.
Determine the:
(i) average number of patients waiting in the queue.
(i)  average number of patients in the queueing system.
(iii)  average time a patient spends in the queueing system.
(iv)  average time a patient spends in the queue.
(v) probability that there will be 10 patients in the queueing system.
(10 marks)
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5 (a) Explain five limitations of the cost-volume profit (C-V-P) analysis, in decision making.
(10 marks)
(b)  Leptra Limited is considering investing Ksh 2,000,000 in either Project A or Project B.
The following are the expected cash inflows from each of the projects, for a period of
five years.
Year Project A (Ksh) Project B (Ksh)
1 1,200,000 200,000
2 600,000 100,000
3 800,000 900,000
4 100,000 800,000
5 50,000 600,000
The cost of capital 1s 14%.
€} Determine the Profitability Index (PI) of each project.
(11) Using the results in (1) above, advise the management on the project to tnvest .
(10 marks)
6. (&) Treda Limited is to transport goods from three factories located in Nairobi, Mombasa
and Kisuniu, (o three distribution centres in Machakos, Meru and Marsabit.
The following information concerns the supply at the sources and demand at the
destinations.
Supply source Number of units
Nairobi 20
Mombasa 30
Kisumu 80
Demand at destination Number of units
Machakos 60
Meru 10
Marsabit 60
Transportation cost per unit (Ksh’000’) is as per the table given below: ot a b
5
Machakos Meru Marsabit
Nairobi 4 4 6
Mombasa 8 2 4
Kisumu 2 6 2
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(1) Using the least-cost method, determine the optimal transportation schedule for
the firm.

(11) Ascertain the minimum cost of transportation, according to the schedule
determined in (1) above.

(12 marks)
(b) A firm sells a single product. The following table relates to the product for two
different periods.
Period Sales (ksh) Variable cost (Ksh) Profit (Ksh)
1 200,000 120,000 40,000
2 300,000 180,000 80,000
The price, unit variable cost and fixed cost are the same for the two periods.
Determine the:
(1) fixed cost;
(11) breakeven sales revenue;
(1)  profit when sales are Ksh l,\ZOO,Q()();
(iv)  sales required to realise a profit of Ksh 220,000.
(8 marks)
7. (a) A company has a picce of land that it can cither cultivate or lease out to a local farmer.
The income from leasing would be Ksh 300,000 while the cost of cultivation would be
Ksh 200,000.
There 1s a chance of getting a high, medium or low harvest upon cultuvating the land.
The following table shows the state of harvest, net income and associated probabilities.
State of harvest Net income (Ksh) Probability
High 1,000,000 0.6
Medium 600,000 0.3
Low 106,000 0.1
Using the information above,
(1) construct a decision tree.
(1)  determine the Expected Monetary Value (EMV).
(i)  advise the management on the better option to take.
(12 marks)
(b) Explain four advantages of Net Present Value (NPV) method in project appraisal.
(8 marks)
_ gales” v
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